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3 point problems (Séuara 3 povadwv)

1. Which cloud contains only numbers less than 7?
Moo oUvvedo nepLéxeL aplOoUg KATW Tou 7 Lovo;
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2. Which figure shows a part of this necklace?
MNowa elkOvVa SeiXVeL éva PEPOG AUTOU TOU KOALE;

NI )

3. Together, mum Kangaroo and her son Jumper weigh 60 kilograms. Mum Kangaroo alone weighs 52
kilograms. How much does Jumper weigh?

Madii, n unTépa Kaykoupo Kat o yLog thg Fpnyopng quyilouv 60 kiAd. Movo n pntépa kKaykoupo Juyilel
52 ki\d. Ndoo JuyileL o Mpnyodpng;

(A) 2 kilograms / 2 kA& (B) 4 kilograms / 4 kA& (C) 8 kilograms / 8 kA&
(D) 30 kilograms / 30 kA& (E) 46 kilograms / 46 k&

4. Karen cuts out one piece of this grid. Which piece is the one she cut?
H Katepiva KOBEeL £va KOMUATL 0UTOU TOU TTAEYpatoG. Moo KOMUATL Eival auto mou £KoYs;
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5. If tomorrow is Tuesday, yesterday was ........ .
Av aUpro eivau Tpitn, xBeg Atav ........ .

(A) Sunday (B) Thursday  (C) Wednesday (D) Monday (E) Saturday
(A) Kuprakn (B) Mépmtn (C) Tetdptn (D) Aeutépa  (E) 2aBBato
6. Jorge pairs his socks so that the numbers match. How many pairs can he make?

O Nwpyog cuvSUATEL TIG KAATOEG TOU £T0L WOTE oL aplOpoi va tapLtdfouv. Ndca {euydpla Uropei va
KAVEL

(A)3 (B) 4 (C)5 (D) 6 (E)8

7. Maya Bee was gathering pollen from all of the flowers that lie inside the rectangle, but are outside
the triangle. From how many flowers did she collect pollen?

H péhicoa Mapia cUAAEyEL yOpn amo OAa ta AoudoUdia tou Bpiokovtal péoa oto opOoywvio, aAld
Bplokovral £§w ao to tpiywvo. Antd mooca AouAoudia paleye yupn;

(A)9 (B) 10 (C)13 (D) 17 (E) 20
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8. Mr. Nelson brought 12 horse-shoes to his stable, which were used to hoof all of his horse's hooves.
How many horses did he have?

O k. Nikog £depe 12 nétaAda Tou aAdyou oto oTABAO TOu, Ta omoia XpnoLLonotonkav yla va
netaAwoouv OAa ta dAoya tou. Mooa dloya €ixe;

(A)12 (B)6 (C)4 (D)3 (E)2

4 point problems (9éuata 4 povadwv)

9. You have to close two of the five gates so that the mouse cannot reach the cheese. Which gates
should you close?

Mpénel va kKAeloete U0 ano TIg MEVTE MUAEG £TOL WOTE TO MOVTiKL va v $ptacel oto tupi. Moleg
ntUAeg Oa npénel va KAEloETE;
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10. Patricia folds a sheet of paper twice and then cuts it, as shown. How many pieces of paper does
she end up with?

H NMavAiva sutAwvel 5U0 ¢opég Eva GUAAO XaPTLOU KOlL OTN CUVEXELA TO KOPEL, Onwg Ppaivetal. Nooca
KOMMATLO XapTloU Oa £XEL oTO TENOG;
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(A) 2 (B)3 (C) 4 (D)5 (E) 6

11. At a fun fair Sam threw a ball into a pyramid of cans. After the pyramid is rebuilt, it looks a little
different (see picture).

I€ £va MO VLISOTOMO 0 ITaUPOG £PLEE PO WA X o€ JLa upapida anod Soxeia. MeTA TO GTHOLHO TNG
nupapidag, paiveran Aiyo dtadopetikn (BA. Ewoval).

before Sam's throw after Sam's throw
TP pigeL o Ztalpog META Tou £pLEE O ZTAUPOG

How many cans are now in a different spot of the pyramid?
Nooa doxeia Bpiokovral twpa o€ Stadopetikr) Oéon otn nupauida;

(A) 2 (B)3 (C) 4 (D)5 (E) 6

12. A cat and a bowl of milk are in the opposite corners of the board. The cat can only move as shown
by the arrows. In how many ways can the cat reach the milk?

Mua yata Kat pio Koura e yaAa Bpiokovtan otig avtifeteg ywvieg tov nivaka. H yata pnopei va
KwwnOel povo onwg ¢paivetar anod ta BEAn. Me nécoug TpOMOUG UNOPEL N yata va ¢Taoel oto yaAa;
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(A) 2 (B) 3 (C) 4 (D)5 (E) 6
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13. Four strips are woven into a pattern, as shown. What do you see when you look at it from the
back side?

Téooepa Aovpla udaivovral o Eva potifo, onwg ¢paivetat. Tt BAENETE OTAV TO KOLTAETE AMO TV
niicw mMAsupq;

(A) (B) (€)

14. Each of the shapes shown is made by gluing together four cubes of the same size. The shapes are
to be painted. Which shape has the smallest surface to be painted?

KdBe pia amno tig popdég mouv napouciaovrol yivetal He cuykOAAnon tTecodpwv KUBwWV Tou idlou
Hey€Boug. Ta oxAuata npokeLtol va Boadtouv. Nota popdn €XeL Tn PKpOTEPN e AveLa TTou Ba

Badrel;

(B) - () -
(E)‘

(A)

(D)
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15. A floor is covered with identical rectangular tiles as shown. The shorter side of each tile is 1 m.
What is the length of the side with the question mark?

‘Eva 8Anebo KaAUTmTeTal e navopolotuna opdoywvia MAakakia onwg ¢aivetat. H pikpotepn
nAgupa KABe mMAakLSiov gival 1 m. Moto gival To urKog TG MAEUPAG KE To cUUBoAo “?”;

Im

f—
(A)em (B)8 m (C)10m (D)11m (E)12m

16. A train from KANG station to AROO station leaves at 6:00 in the morning and passes by other
three stations on the way, without stopping. The numbers show the journey times between two
stations, in hours. The train arrives at AROO station at 11:00 at night on the same day. What is the
journey time between AROO station and the immediate previous one?

‘Eva tpévo and to otadud KANG £w¢ to otaBuo AROO deuyel otig 6:00 To Mpwi Kal MEPVA ANO
AAAoug TpeLg otadolg oty mopeia Xwpig va otapatiost. OL aplOpoi S€ixvouv Toug Xpovoug

ta§Lélou petafy duo otabuwv, os wpeg. To Tpévo Ppravel oto otadBué AROO otig 11:00 to Bpadu tnv
i6La pépa. Mowog eivar o xpovog tagtdov petal tov otadpov AROO Kol TOU AUECWE TTPONYOUHEVOU;

KANG — ‘——ii— AROO
| L W

(A) 2 hours (B) 3 hours (C) 4 hours (D) 5 hours (E) 6 hours
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17. On a farm, there are only sheep and cows. The number of sheep is 8 more than the number of
cows.
The number of cows is half the number of sheep. How many animals are on the farm?
Zg éva aypOKTNHOL UTTAPXOUV HOVo tpopata Kat ayeAddeg. O aplOpdg Twv npofatwv sival 8

pHeyaAUtepog amno Tov aplOpd Twv ayeAddwv. O aplOpog Twv ayeAddwv givot o PLeog aplOpog Twv
npoBatwv. Néca {wa Bpickovtal 6To AypOKTNUQ;

(A) 16 (B) 18 (C) 20 (D) 24 (E) 28

18. A figure has been cut into these 3 pieces. Which figure could have been the one cut?
‘Eva oxXfpa €XeL KOTEel 6€ autd ta 3 TepdyLa. Moo oxfua Oa HopoUcEe va Eivol AUTO IOV KOTINKE;

(A) l (B) . (@] ' (D) . (E) .

19. There are 10 camels in a Zoo. The camels are either Bactrian (with two humps) or Dromedary
(with one hump). In total there are 14 humps. Find the number of Bactrian camels in the Zoo.

Yndpxouv 10 kapnAeg o€ £va {woAoyiko kAmo. O KapRAeg ovopddovton «Bactrian» (e duo
Kapmnoupecg) j «Dromedary» (1e pia kapmoupa). ZUVOALKA UTtdpXouv 14 Kapnoupss. Bpeite tov
apLlOpo Twv KapnAwv «Bactrian» oto {woAoyLKO KN TtO.

(A)1 (B) 2 (€3 (D)4 (E)5

20. Three squirrels Anni, Asia and Elli collected 7 nuts in total. Each collected a different number of
nuts, but each collected at least one. Anni collected the least, Asia the most. How many nuts did Elli
collect?

Tpelg okioupol n Avva, n Avrpla Kot i ‘EAAN cuykévipwoav 7 §npoulg Kapmoug cuvoAikd. Kade pia
OUYKEVTPWOE SL0pOPETIKO aplOud Enpwv Kapmwv, aAAd n KAOE pio GUYKEVTPWOE TOUAAXLOTOV £Val.
H Avva cuvéleEe TouG ALyOTEPOUG, EVW N AVTpLa TOUG EPLOCOTEPOUG. NOoou¢ Enpolc Kapmoug
OUYKEVTPWOE N ‘EAAN ;

(A)1 (B) 2 (€)3 (D)4 (E)5
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21. Tim and Tom built a sandcastle and decorated it with a flag. They stuck half of the flagpole into
the highest point of the castle. The upper tip of the flagpole was 80 cm above the ground, the lower
tip was 20 cm above the ground. How tall was the sandcastle?

O Tdoog Kot 0 TAKNG EXTLOAV £VA KAOTPO OO GLHO KL TO SLAKOGUNOOV ME JLoL Chaia.

ITEPEWOAV TO LLEO TNG onpaiog oto UYPNAOGTEPO CHUELO TOU KAGTPOU. TO OVWTEPO AKPO THG ChHALOG
ntav 80 EKATOOTA TAVW anod To £8adog, N KATW akpn ATav 20 EKATOCTA NAVW ano to £€5agdog.
Noéoo YnAo Atav To KaoTpo;

80 cm

20 cmy

(A) 40 cm (B) 45 cm (C) 50 cm (D)55cm (E) 60 cm

22. Here are nine squares as shown. First, Ani replaced all the black squares with white ones. Next,
Bob replaced all the grey squares with black ones. Finally, Chris replaced all the white squares with
grey ones. What did they get at the end?

ESw gival evvéa TeTpaywva onwg dpaivetal. ApXIKA, N AVva QVTIKOTESTNOE OAa TOL LaUpa TETPAYwWVA

e AEUKA. ZTN OUVEXELQ, 0 BaciAng aviikatéotnos OAa ta yKpi{o Tetpdywva pue pavpa. TEAOG, o
Xpiotog avtikatéotnoe OAa to AsUKA TeTpaywva Le yKpila. Tt mRpav oto TENoG;

H '

~Hl E Tl i o FTHTHE [ B
o IR o EEETETTTE
o I




Thales Foundation
KANGAROO MATHEMATICS 2019 / KANGAROO MAGHMATIKA 2019

LEVEL 1-2 / ENINEAO 1-2

23. Peter chose a square of four cells in the table so that the sum of the four numbers inside the
square is greater than 63.

O MNétpog eMENEEE €va TETPAYWVO TECCAPWV KUPEAWV OTOV TIiVaKO £TOL WOTE TO ABpOLoHA TWV
TECCAPWV APLOUWV LESA OTO TETPAYWVO va gival LeyaAUTEPO amno 63.

1 (21345
6718|910
1112131415
1617181920

Which of the following numbers must be in the chosen square?
Molog amod Toug MAPAKATW aAPLOROUG MPEMEL VO BPIlOKETAL OTO ETUAEYUEVO TETPAYWVO;

(A) 14 (B) 15 (C) 17 (D) 18 (E) 20

24. Amalia's machine converts one red token into three white tokens and one white token into two
red tokens.

To pnxavnua tng ALaAioG HETATPEEL LA KOKKLVN LAPKOL OE TPELG AEUKEG LAPKEG KoL Lot AEUKR
HAPKOL 6E SU0 KOKKLVEG LAPKEG.

@ O

v v

OO0 o0

Amalia has three red tokens and one white token:
H Apalio £XEL TPELG KOKKLVEG LAPKEG KAl Eva AEUKO:

1 1@

She uses the machine three times. What is the smallest number of tokens she can get at the end?
Xpnouuomnolei To pnxavnua tpetg ¢popé. Molog ivat o PLKPOTEPOG APLOUOG LOPKWV TTOU UTTOPEL Vo
TApPEL 6TO TEAOG;

(A)7 (B)6 (c)8 (D)5 (E)9

END / TEAOZ




